

On positive solutions of equations with two middle terms

by WITOLD A. KOSMALA and WILLIAM C. BAULDRY
(Boone, North Carolina, USA)

Abstract. In this paper we prove that for any two eventually positive and bounded solutions of the n th-order, nonlinear, forced differential equation with two middle terms, their difference is oscillatory and tends to zero. In a more special case, we prove that the equation has at most one eventually bounded positive solution.

1. Introduction. This paper continues the study of the nonlinear delay equation of the type

$$(*) \quad x^{(n)} + p(t)x^{(n-1)} + q(t)x^{(n-2)} + H(t, x(g(t))) = Q(t).$$

It is proven that under certain conditions for any two eventually positive solutions $u(t)$ and $v(t)$ of $(*)$, the difference $u(t) - v(t)$ must be oscillatory and tending to zero. Under different assumptions, if $q(t) \equiv 0$ and $g(t) = t$, we prove that the equation has at most one eventually positive solution. These results, with the assumptions somewhat parallel to the ones in [6] and [10], extend [3], [4], [5] and [8], where $p(t)$ and $q(t)$ were assumed to be zero and $g(t) = t$. Examples are given throughout the paper.

2. Preliminaries. We denote by R the real line and by R_+ the interval $[0, \infty)$. Let (E) denote an n th-order differential equation or inequality. By a solution of (E) we mean a function $x(t)$, $t \in [t_x, \infty) \subset R_+$, which is n times continuously differentiable and satisfies (E) on $[t_x, \infty)$. The number $t_x \geq 0$ depends on the particular solution $x(t)$ under consideration. We say that a property P holds *eventually*, or *for all large t* , if there exists $T \geq 0$ such that P holds for all $t \geq T$. We denote by $C^n(I)$ the space of all n times continuously differentiable functions $f: I \rightarrow R$. We write $C(I)$ instead of $C^0(I)$.

In the content of this paper we consider equation $(*)$ where n is an even integer, $n \geq 4$, and the functions satisfy the following conditions:

(A) $p \in C^1(R_+)$, $q \in C(R_+)$ where $p(t) \leq 0$, $q(t) \geq 0$ and $q(t) - p'(t)/2 \leq 0$;

(B) $g \in C(R_+)$ where $g(t) \leq t$ with $\lim_{t \rightarrow \infty} g(t) = +\infty$, and eventually in-

creasing;

(C) $H: R_+ \times R \rightarrow R$ is continuous, $H(t, u) > 0$ for $u > 0$ and increasing in u ;

(D) $H^*(t, u) \equiv \frac{\partial}{\partial u} H(t, u)$ is continuous, nonnegative and increasing for $u > 0$;

(E) the equation $u'' + p(t)u' + q(t)u = 0$ is disconjugate on R_+ (we recall that an n th-order differential equation is said to be *disconjugate on an interval* $I \subset R_+$ if no nontrivial solution of it has more than $n-1$ zeros on I);

(F) the equation

$$S^{(n)} + p(t)S^{(n-1)} + q(t)S^{(n-2)} = Q(t)$$

has a solution $S(t)$ such that $\liminf_{t \rightarrow \infty} S(t) = 0$;

(G) for any $t_0 \geq 0$ and any positive constant k we have

$$\int_{t_0}^{\infty} H(t, h) dt = +\infty.$$

We can note at this point that for example the equation

$$x^{(6)} - (1/t)x^{(5)} + 1/(2t^2)x^{(4)} + (1/t)(x(t-3))^3 = 852t^{-7}$$

with $t \geq 1$ satisfies all of the above conditions. We might note that here $S(t) = 1/t$.

From Kiguradge's paper [7] we quote

LEMMA A. Let $x \in C^n[t_0, \infty)$ be given with $t_0 \geq 0$. Assume further that $x^{(n)}(t)x(t) \leq 0$ for $t \geq t_0$. Then there exist $T \geq t_0$ and an integer m , $0 \leq m \leq n-1$, such that for $t \geq T$ we have

$$x^{(k)}(t)x(t) \geq 0, \quad k = 0, 1, \dots, m;$$

$$(-1)^{n+k} x^{(k)}(t)x(t) \leq 0, \quad k = m+1, m+2, \dots, n.$$

The integer m is even if n is odd and odd if n is even.

Next, from Kosmala's paper [9] we quote

LEMMA B. If $x(t)$ is an eventually positive solution of (*), then either $(x(t) - S(t))^{(j)} > 0$, $t \geq T$, $j = 0, 1, \dots, n-1$, for some $T \geq 0$, or $(x(t) - S(t))^{(n-2)} < 0$ eventually.

3. Main results

THEOREM 1. If $x(t)$ is an eventually bounded positive solution of the equation (*), then

$$(-1)^i (x(t) - S(t))^{(i)} < 0 \quad \text{with} \quad \lim_{t \rightarrow \infty} (x(t) - S(t))^{(i)} = 0$$

for $i = 0, 1, \dots, n-2$, $t \geq T$ for some $T \geq 0$.

Proof. Let $x(t)$ be a bounded positive solution of (*) for $t \geq t_0 \geq 0$. Set $u(t) = x(t) - S(t)$, $t \geq t_0$. Then (*) becomes

$$(3.1) \quad u^{(n)}(t) + p(t)u^{(n-1)}(t) + q(t)u^{(n-2)}(t) + H(t, u(g(t)) + S(g(t))) = 0.$$

By Lemma B there exists $t_1 \geq t_0$ such that $u^{(n-2)}(t) < 0$ or $u^{(j)}(t) > 0$ for $j = 0, 1, \dots, n-1$. Thus $u(t)$ must be of one sign eventually. We observe that if all the derivatives of $u(t)$ are positive then $u(t) \rightarrow +\infty$ as $t \rightarrow \infty$. Since $S(t)$ is bounded, we would have $\lim_{t \rightarrow \infty} x(t) = +\infty$ which is a contradiction to the

boundedness of $x(t)$. Hence we can only have the case that $u^{(n-2)}(t) < 0$ for $t \geq t_1$. To show $u(t)$ is negative eventually, we assume the contrary for $t \geq t_2 \geq t_1$. Since n is even, we know that $u'(t) > 0$ for $t \geq t_3 \geq t_2$, where t_3 is large enough so that $|S(t)| < \varepsilon$ for $t \geq t_3$ and where $0 < \varepsilon < u(t_3)/2$. Since $g(t) \rightarrow +\infty$, there exists $t_4 \geq t_3$ such that $g(t) > t_3$ for every $t \geq t_4$. Consequently we have that $u(g(t)) + S(g(t)) > u(t_3) - \varepsilon > 0$ for $t \geq t_4$.

Next we integrate (3.1) from t_4 to t , $t \geq t_4$, to obtain

$$\begin{aligned} u^{(n-1)}(t) + p(t)u^{(n-2)}(t) &= u^{(n-1)}(t_4) + p(t_4)u^{(n-2)}(t_4) \\ &\quad - \int_{t_4}^t (q(s) - p'(s))u^{(n-2)}(s)ds - \int_{t_4}^t H(s, u(g(s)) + S(g(s)))ds \\ &= M - f(t) - \int_{t_4}^t H(s, u(g(s)) + S(g(s)))ds, \end{aligned}$$

where M is a constant and $f(t)$ is the first integral above. Let $z(t) = u^{(n-2)}(t)$ and observe that $z(t)$ satisfies a first-order linear equation. Thus

$$\begin{aligned} z(t) &= \exp\left[-\int_{t_4}^t p(s)ds\right] \left\{ z(t_4) + \int_{t_4}^t \left[\exp\int_{t_4}^s p(r)dr \right] \right. \\ &\quad \left. [M - f(s) - \int_{t_4}^s H(r, u(g(r)) + S(g(r)))dr] ds \right\} \end{aligned}$$

Since $u(g(t)) + S(g(t)) > u(t_3) - \varepsilon = k > 0$ and $f(t)$ is positive, we have that

$$z(t) \leq \int_{t_4}^t \exp\left[-\int_s^t p(r)dr\right] \left[M - \int_{t_4}^s H(r, k)dr \right] ds.$$

Note that by condition (G), there is an s_0 such that

$$\int_{t_4}^{s_0} H(r, k)dr \geq M + 1.$$

Thus we have that

$$z(t) \leq \int_{t_4}^t \left[\exp\left[-\int_s^t p(r)dr\right] \right] (M - (M + 1)) ds = - \int_{t_4}^t \exp\left[-\int_s^t p(r)dr\right] ds \leq - \int_{t_4}^t 1 ds.$$

Therefore we have that $\lim_{t \rightarrow \infty} z(t) = -\infty$ and so $u^{(n-2)}(t) \rightarrow -\infty$. This is a contradiction to the positiveness of $u(t)$. Thus we can conclude that there exists $t_5 \geq t_4$ so that $u^{(n-2)}(t) < 0$ and $u(t) < 0$ for $t \geq t_5$. Therefore, there exists an even integer m , $0 \leq m < n-2$, such that

$$\begin{aligned} u^{(i)}(t) &< 0, & i = 0, 1, \dots, m, \\ (-1)^i u^{(i)}(t) &< 0, & i = m+1, \dots, n-2 \end{aligned}$$

for $t \geq$ (some) T . If $m \neq 0$, then $u''(t) < 0$ and $u'(t) < 0$ for $t \geq T$. Therefore

$$\lim_{t \rightarrow \infty} u(t) = \lim_{t \rightarrow \infty} (x(t) - S(t)) = -\infty.$$

Thus $\lim_{t \rightarrow \infty} S(t) = +\infty$ which is a contradiction to assumption (F). So $m = 0$, which implies that $\lim_{t \rightarrow \infty} (x(t) - S(t))^{(i)} = 0$ for $i = 1, 2, \dots, n-2$. To show that $\lim_{t \rightarrow \infty} u(t) = 0$, we first observe that $\lim_{t \rightarrow \infty} u(t) \leq 0$ since $u(t) < 0$. Now, if we suppose that $\lim_{t \rightarrow \infty} u(t) < 0$ and recall that $\lim_{t \rightarrow \infty} \inf S(t) = 0$, we can find a sequence $\{\bar{t}_n\}_{n=1}^{\infty}$ such that $\bar{t}_n \rightarrow \infty$ as $n \rightarrow \infty$ and $\lim_{n \rightarrow \infty} S(\bar{t}_n) = 0$, and so $\lim_{n \rightarrow \infty} u(\bar{t}_n) = \lambda < 0$ which is a contradiction to the fact that $x(t)$ is positive. Hence $\lim_{t \rightarrow \infty} u(t) = 0$, which completes the proof.

We would like to note that Lemma B as well as Theorem 1 hold true even if the equation in condition (E) is replaced by

$$u'' + (q(t) - p'(t)/2)u = 0.$$

For more on this subject we refer the reader to p. 246 in [9].

THEOREM 2. *If $u(t)$ and $v(t)$ are two eventually bounded positive solutions of equation (*), then the difference $u(t) - v(t)$ must be oscillatory and tending to zero, provided that for $t_0 \geq 0$ we have*

$$(3.2) \quad \int_{t_0}^{\infty} H^*(t, 0) dt = +\infty.$$

By oscillatory function we mean a function which has an unbounded set of zeros.

Proof. Let $u(t)$ and $v(t)$ be two bounded and positive solutions of the equation (*) for $t \geq t_0 \geq 0$, and let $w(t) = u(t) - v(t)$ for $t \geq t_0$. Therefore $w(t)$ is bounded. From (*) now we can obtain

$$(3.3) \quad w^{(n)}(t) + p(t)w^{(n-1)}(t) + q(t)w^{(n-2)}(t) + H(t, u(g(t))) - H(t, v(g(t))) = 0.$$

To show that $w(t)$ is oscillatory we will assume that $w(t)$ is eventually positive. The negative case follows the similar steps.

So, let us suppose that $w(t) > 0$ for $t \geq t_1 \geq t_0$. Since $g(t) \rightarrow +\infty$ as $t \rightarrow \infty$, there exists $t_2 \geq t_1$ such that $g(t) \geq t_1$ and is increasing for every $t \geq t_2$. Thus from condition (C) we know that

$$H(t, u(g(t))) - H(t, v(g(t))) > 0, \quad t \geq t_2,$$

and so from (3.3) we have

$$(3.4) \quad z''(t) + p(t)z'(t) + q(t)z(t) < 0$$

where $z(t) = w^{(n-2)}(t)$, $t \geq t_2$. We are going to show that $z(t) < 0$ eventually.

First, we will suppose that $z(t)$ is oscillatory. Let $z(t_3) = z(t_4) = 0$ for $t_4 > t_3 \geq t_2$ and $z(t) \neq 0$ for $t \in (t_3, t_4)$. To show that in this situation $z(t)$ must be positive, we assume the contrary is true. So, letting $y(t) = -z(t) > 0$, we obtain from (3.4) that

$$y''(t) + p(t)y'(t) + q(t)y(t) > 0, \quad t \in (t_3, t_4).$$

Now, applying Theorem 3.1 of Jackson and Schrader [2], we find that there exists a solution $r(t)$ of

$$r''(t) + p(t)r' + q(t)r = 0$$

with $r(t_3) = r(t_4) = 0$ and $0 < y(t) \leq r(t)$, $t \in (t_3, t_4)$. This is a contradiction to condition (E). Thus we can conclude that $w^{(n-2)}(t) < 0$ or $w^{(n-2)}(t) \geq 0$ eventually.

Next we observe that $w^{(n-2)}(t) \geq 0$ implies that $w^{(n-1)}(t)$ must be positive. To verify this we proceed as follows. Let $w^{(n-1)}(t_5) = 0$ and $w^{(n-2)}(t) \geq 0$ for $t \geq t_5 \geq t_2$. Then (3.3) gives

$$w^{(n)}(t_5) = -q(t_5)w^{(n-2)}(t_5) - (H(t_5, u(g(t_5))) - H(t_5, v(g(t_5)))) < 0.$$

It follows that $w^{(n-1)}(t)$ is decreasing at each one of its zeros. This implies that $w^{(n-1)}(t) < 0$ for all $t > t_5$. So, if $w^{(n-1)}(t)$ has one zero t_5 , it must be negative to the right of t_5 . Thus it cannot oscillate. Naturally, $w^{(n-1)}(t)$ cannot be eventually negative, because, if it were, (3.3) would give $w^{(n)}(t) < 0$ eventually. This contradicts the positiveness of $w(t)$. Therefore we must have that $w^{(n-1)}(t) > 0$ eventually.

We can now observe that $w^{(n-2)}(t) \geq 0$ together with $w^{(n-1)}(t) > 0$ for all large t will imply that $w(t)$ is unbounded which is a contradiction. Hence, we conclude that $w^{(n-2)}(t)$ must be negative for $t \geq t_6 \geq t_2$.

Since n is even, from Lemma A we know that $w'(t) > 0$ for $t \geq t_7 \geq t_6$. By the Mean Value Theorem we know that

$$(H(t, u(g(t))) - H(t, v(g(t)))) / (u(g(t)) - v(g(t))) = H^*(t, \lambda(t)),$$

$t \geq t_7$ where $\lambda(t)$ is a continuous function lying between $u(g(t))$ and $v(g(t))$, which are both positive. Thus for $t \geq t_7$ we can write

$$\begin{aligned} H(t, u(g(t))) - H(t, v(g(t))) &= H^*(t, \lambda(t)) w(g(t)) \\ &\geq H^*(t, u(g(t))) w(t_1) \geq kH^*(t, 0), \end{aligned}$$

where $k = w(t_1)$ is a constant. Therefore, integrating (3.3) from t_7 to $t \geq t_7$, we obtain

$$\begin{aligned} w^{(n-1)}(t) + p(t)w^{(n-2)}(t) &= w^{(n-1)}(t_7) + p(t_7)w^{(n-2)}(t_7) \\ &\quad - \int_{t_7}^t (q(s) - p'(s))w^{(n-2)}(s)ds - \int_{t_7}^t (H(s, u(g(s))) - H(s, v(g(s))))ds \\ &= M - f(t) - \int_{t_7}^t (H(s, u(g(s))) - H(s, v(g(s))))ds, \end{aligned}$$

where M is a constant and $f(t)$ is the first integral. If $z(t) = w^{(n-2)}(t)$, we have as in Theorem 1 that

$$\begin{aligned} (3.5) \quad z(t) &= e^{-\int_{t_7}^t p(s)ds} \left[z(t_7) + \int_{t_7}^t e^{\int_{t_7}^r p(r)dr} \left[M - f(s) - \int_{t_7}^s (H(r, u(g(r))) - H(r, v(g(r))))dr \right] ds \right] \\ &\leq \int_{t_7}^t \left[\exp - \int_{t_7}^s p(s)ds \right] \left[M - \int_{t_7}^s kH^*(r, 0)dr \right] ds. \end{aligned}$$

From condition (3.2) we know that there exists s_0 large enough so that

$$M - \int_{t_7}^{s_0} kH^*(r, 0)dr < 0,$$

and since $\exp(-\int_{t_7}^t p(s)ds) \geq 1$ we conclude that the expression in line (3.5) tends to $-\infty$ and thus $\lim_{t \rightarrow \infty} z(t) = -\infty$. This implies that $\lim_{t \rightarrow \infty} w^{(n-2)}(t) = -\infty$ which is a contradiction to the positiveness of $w(t)$. It follows that $w(t)$ is oscillatory. Moreover, since from Theorem 1 we have that $0 < u(t) < S(t)$ and $0 < v(t) < S(t)$ with $\lim_{t \rightarrow \infty} (u(t) - S(t)) = 0 = \lim_{t \rightarrow \infty} (v(t) - S(t))$, it is clear that $\lim_{t \rightarrow \infty} w(t) = 0$, and so the proof is complete.

At this point we would like to note that assumption (G) is not equivalent to condition (3.2). For example, the function

$$H(t, u) = (e^{tu} - 1)/(t^3 + 1)$$

satisfies assumptions (C), (D), and (G) but not (3.2). However,

$$H(t, u) = e^{ue^{-t}} - 1 + e^{-t}(1 - 1/(1 + ue^t))$$

satisfies (3.2), assumptions (C), (D) but not (G).

THEOREM 3. *If we assume that $S(t)$ is bounded and that*

$$(3.6) \quad \int_{t_0}^{\infty} t^{n-1} H^*(t, k)dt < +\infty$$

for any $k > 0$ and $t_0 \geq 0$ constants, then equation (*) has at most one eventually bounded positive solution, provided that $q(t) \equiv 0$ and $g(t) = t$.

Proof. Let $u(t)$ and $v(t)$ be two bounded positive solutions of (*) for $t \geq t_0 \geq 0$, and let $w(t) = u(t) - v(t)$. Therefore, $w(t)$ is bounded and tends to zero (follows from Theorem 1). Since $w(t)$ and $S(t)$ are bounded and (3.6) is satisfied, we can find $t_1 \geq t_0$ such that

$$|w(t_1)| = \sup_{t \in (t_1, \infty)} |w(t)|$$

and

$$(3.7) \quad \int_{t_1}^{\infty} (t - t_1 + 1)^{n-1} H^*(t, k) dt \leq 1$$

for any $k > 0$ constant, in particular the one where $|S(t)| \leq k$ when $t \geq t_1$. Next we write (*) as

$$(3.8) \quad w^{(n)}(t) + p(t)w^{(n-1)}(t) + H(t, u(t)) - H(t, v(t)) = 0.$$

But, by the Mean Value Theorem, as in the proof of Theorem 2, there exists $\lambda(t)$, a continuous function lying between $u(t)$ and $v(t)$ such that

$$H(t, u(t)) - H(t, v(t)) = H^*(t, \lambda(t))w(t).$$

Thus (3.8) becomes

$$w^{(n)}(t) + p(t)w^{(n-1)}(t) + H^*(t, \lambda(t))w(t) = 0,$$

which can be written as

$$\frac{d}{dt} \left[w^{(n-1)}(t) \exp \int_{t_1}^t p(s) ds \right] = -H^*(t, \lambda(t))w(t) \exp \int_{t_1}^t p(s) ds$$

which yields

$$w^{(n-1)}(t) \exp \int_{t_1}^t p(s) ds - w^{(n-1)}(t_1) = - \int_{t_1}^t H^*(u, \lambda(u)) w(u) \left(\exp \int_{t_1}^u p(s) ds \right) du.$$

Next we observe that $\lim_{t \rightarrow \infty} w^{(n-1)}(t) = 0$, for otherwise we get a contradiction to the fact that $\lim_{t \rightarrow \infty} w(t) = 0$. Hence, by taking limits of the above expression we obtain

$$(3.9) \quad w^{(n-1)}(t_1) = \int_{t_1}^{\infty} H^*(u, \lambda(u)) w(u) \left(\exp \int_{t_1}^u p(s) ds \right) du.$$

Since we can replace t_1 by any t where $t \geq t_1$, we have

$$w^{(n-1)}(t) = \int_t^{\infty} R(u) du, \quad t \geq t_1,$$

where $R(u)$ is the integrand in (3.9). Next we integrate above from t_1 to t , $t \geq t_1$, using the integration by parts, to get

$$\begin{aligned} w^{(n-2)}(t) &= w^{(n-2)}(t_1) + \int_{t_1}^t \int_s^\infty R(u) du ds \\ &= w^{(n-2)}(t_1) + t \int_t^\infty R(u) du - t_1 \int_{t_1}^\infty R(u) du + \int_{t_1}^t s R(s) ds \\ &= w^{(n-2)}(t_1) + \int_t^\infty (t-s) R(s) ds + \int_{t_1}^\infty (s-t_1) R(s) ds. \end{aligned}$$

Again we take limits as $t \rightarrow \infty$ to obtain

$$0 = w^{(n-2)}(t_1) + \int_{t_1}^\infty (s-t_1) R(s) ds.$$

As before we replace t_1 by t , $t \geq t_1$, to get

$$w^{(n-2)}(t) = \int_t^\infty (t-s) R(s) ds, \quad t \geq t_1.$$

Thus, we can obtain expressions

$$w^{(m)}(t) = \int_t^\infty ((t-s)^{n-m-1} / (n-m-1)!) R(s) ds, \quad m = 0, 1, 2, \dots, n-1,$$

for $t \geq t_1$.

From the above expression we have that

$$\begin{aligned} |w(t)| &\leq \int_t^\infty |(t-s)^{n-1} R(s)| ds \\ &\leq \int_{t_1}^\infty |(s-t)^{n-1} R(s)| ds \leq \int_{t_1}^\infty (s-t_1+1)^{n-1} |R(s)| ds \\ &= \int_{t_1}^\infty (s-t_1+1)^{n-1} \left(\exp \int_{t_1}^s p(v) dv \right) |H^*(s, \lambda(s))| |w(s)| ds. \end{aligned}$$

Hence, we have

$$\begin{aligned} |w(t_1)| &\leq |w(t_1)| \int_{t_1}^\infty (t-t_1+1)^{n-1} \left(\exp \int_{t_1}^t p(s) ds \right) |H^*(t, \lambda(t))| dt \\ &\leq |w(t_1)| \int_{t_1}^\infty (t-t_1+1)^{n-1} |H^*(t, k)| dt, \end{aligned}$$

which is true because $\exp \int_{t_1}^t p(s) ds \leq 1$ and $\lambda(t) < S(t) \leq k$ since $\lambda(t)$ is between $u(t)$ and $v(t)$ and they both are less than $S(t)$ by Theorem 1. Therefore in view of

(3.7) we have that $|w(t_1)| \leq |w(t_1)|$, which is true only if $\sup_{t \in (t_1, \infty)} |w(t)| = 0$. This proves the result.

We can observe that assumption (G) is not equivalent to condition (3.6). For example the function $H(t, u) = (e^{tu} - 1)/(t^3 + 1)$ satisfies assumptions (C), (D) and (G) but not (3.6), whereas the function $H(t, u) = -1 + \exp(ue^{-t})$ satisfies (3.6), assumptions (C) and (D) but not (G). Furthermore observe that the integral in (3.2) is that of (3.6) with $n = 1$ and $k = 0$, it is clear that these conditions are distinct. Further, since $H^*(t, u)$ is increasing in u , it follows that $H^*(t, 0) < H^*(t, k)$ for $k > 0$. Hence, if (3.2) is satisfied, then (3.6) cannot hold, and conversely, if (3.6) is satisfied, then (3.2) must fail. As respective examples we have the functions $H(t, u) = \exp(tu) - 1$ and $H(t, u) = \exp(ue^{-t})$. Note also that the function $H(t, u) = \exp(ue^{-t})$ satisfies (3.6) and assumptions (C), (D) and (G).

In contrast, if $H(t, u) = f(t)g(u)$, then assumption (G) and (3.2) are equivalent since assumption (G) becomes

$$g(k) \int_{t_0}^{\infty} f(u) du = +\infty,$$

and (3.2) is changed to

$$g'(0) \int_{t_0}^{\infty} f(u) du = +\infty.$$

Here we should note that $H^*(t, u)$ being nonnegative and increasing with respect to u ($u > 0$) forces $g'(0) \neq 0$. We also see that (3.6) is reduced to

$$g'(k) \int_{t_0}^{\infty} t^{n-1} f(u) du < +\infty.$$

Thus we see that in this situation assumption (G) precludes (3.6).

To conclude, we would like to point out that one can verify the result which states that: if the equation

$$(3.10) \quad x^{(n)} + p(t)x^{(n-1)} + H(t, x(g(t))) < 0$$

has an eventually positive solution, then so does the equality

$$(3.11) \quad x^{(n)} + p(t)x^{(n-1)} + H(t, x(g(t))) = 0.$$

(Papers [1], [3] and [8] can help the reader in verifying this statement.) Now, if in the above theorems we were to assume that equation (3.11) is oscillatory, the results would be true for all the solutions, not just the bounded ones. For observe that, for example, in Theorem 1 in the case where $u^{(n-2)}(t)$ is positive we had a contradiction due to the boundedness. However, if we were to note that

$$u^{(n)}(t) + p(t)u^{(n-1)}(t) + H(t, u(g(t)) + S(g(t))) \leq -q(t)u^{(n-2)}(t) \leq 0,$$

and thus

$$u^{(n)}(t) + p(t)u^{(n-1)}(t) + H(t, u(g(t)) - \varepsilon) < 0,$$

we can come up with the positive solution $v(t) = u(t) - \varepsilon$ to inequality (3.10). Thus (3.11) has a positive solution which yields a contradiction. In order to obtain the conditions for the oscillation of (3.11), we refer the reader to [10].

Finally, the appreciation goes to the referee for all his helpful comments.

References

- [1] K. E. Foster and R. C. Grimmer, *Nonoscillatory solutions of higher order delay equations*, J. Math. Anal. Appl. 77 (1980), 150–164.
- [2] L. K. Jackson and K. W. Schrader, *Comparison theorems for nonlinear differential equations*, J. Diff. Eqs. 3 (1967), 248–255.
- [3] A. G. Kartsatos, *On n th-order Differential Inequalities*, J. Math. Anal. Appl. 52 (1975), 1–9.
- [4] —, *Oscillation and existence of unique positive solutions for nonlinear n th-order equations with forcing term*, Hiroshima Math. J. 6 (1976), 1–6.
- [5] —, *Maintenance of solutions under the effect of a periodic forcing term*, Proc. Amer. Math. Soc. 33 (1972), 377–383.
- [6] —, and W. A. Kosmala, *The behaviour of an n th-order equation with two middle terms*, J. Math. Anal. Appl. 88 (1982), 642–664.
- [7] I. T. Kiguradze, *Oscillation properties of solutions of certain ordinary differential equations*, Soviet Math. Dokl. 144 (1962), 33–36.
- [8] W. A. Kosmala, *Oscillation and asymptotic behaviour of nonlinear equations with middle term of order $n-1$ and forcings*, Nonlinear Anal. 6 (1982), 1115–1133.
- [9] —, *Comparison results for functional differential equations with two middle terms*, J. Math. Anal. Appl. 11 (1985), 243–252.
- [10] —, *Oscillation theorems for higher order equations*, Appl. Anal. 21 (1986), 43–53.

DEPARTMENT OF MATHEMATICAL SCIENCES
 APPALACHIAN STATE UNIVERSITY
 BOONE, NORTH CAROLINA, USA

Reçu par la Rédaction le 18.05.1987
